INTERMEDIATE EXAMINATION 2021 (ANNUAL)

MODEL SET

Ty ¢ 3 °e 15 fAe Physics ({ifde ome) gt — 70
Time : 3 Hours 15 Minutes Full Marks - 70

el Ul D A=A 70 + 20 + 06 = 96
Total No. of questions 70 + 20+ 06 = 96

gfenfefal & farv fAder —

Instructions for the candidates :-

1.  Candidates are required to give answers in their own words as far

as practicable.
olerefl JATHG U TRl H & IR |
2. Figures in the right hand margin indicate full marks.
SN IR IR R &Y gU & Yolier Mfds &_am 2 |
3. 15 Minutes of extra time have been allotted for candidates to read

the questions carefully.

9 U UF Bl AMYdd U @ ol 15 MAe &1 sifaRed wHa faar
g

4. This question paper is divided into two sections: Section-A and

Section-B
I8 UF UH &I WUSI H B, WUs—3 Ud W[us—4
5. In Section A, there are 70 objective type questions, out of which

any 35 questions are to be answered. If more than 35 questions

are answered, then only first 35 question will be evaluated. Each



questions carries1 mark, Darken the circle with black/blue ball
pen against the correct option on OMR-Answer Sheet provided to
you. Do not use Whitener/Liquid/Blade/Nail etc on OMR answer Sheet
otherwise the result will be invalid.

Gus—3] H 70 IS U &, fSH A =5l 35 Ul BT IR <A1 Afard
2| 35 Ul W IAF YAl & IR < IR UAH 35 YTAI BT & D 81T |
e @ U 1 3fe MR 8| 37T SR < & o Sueier Ry T 3f

T R—IR Y=dh H G T el fddbed arel gl bl bl AT Aiiel dfel U

A IE BN | fod Al IR &1 FReR /TR Uared /&ofs /AEgd 3nfe o
3 TH 3R STR—YAH § TANT HRAT afoid 8, =T GIeT URIMH 3H=I
BT |

In section-B, there are 20 short answer type questions, each carrying

2 marks, out of which only 10 (ten) questions are to be answered.
Apart from this, there are 06 long answer type questions. Each
carrying 5 marks, out of which 3 questions are to be answered.
Gus—g ¥ 20 Y IINY U & | ISP & ford al 3 FiRa g, 4 &
fl 10 T BT SR <1 AR & | 39D JffdRdd, 9 WUs H 06 ard
SR g 3 T B, U & ol 5 3fds MeiRa 2, o=+ | fdhwgl 3 oAl
BT STR T 2 |

Use of any electronic appliances is strictly prohibited.

Pl TR & Seldsidh UG BT IUIRT UidaT afoid = |



SECTION-A (Objective Type Questions)

QGue—3 (G~ )

Questions nos. 1 to 70 have four options; out of which only one is

correct. You have to mark your selected option by blackening the circle

on the OMR-Sheet. (35x1=35)

=R Ueq O 1 19 70 I & IS U9 & IR B IR fddbey fQu v

g, ¥ & U 981 21 3109 §RT g Y el fddey & OMR SR w9 | fad

T g B UTIe R Fafed & | (35x1=35)

1.

TR FHAS ATl &b AoTaldh fdgfd &= 8idl & —

AE=Z2 B. &
80

_ _ 20
C.E= €,-0 D.E= e,

Electric field near a charged plane conductor is
AE=2 B. S
0 0

C.E=80.G D.E= .

m
[\
m

fagra—era (E) iR faga—fava (V) & 9 f=feRad # o daw 98 & 2

AE=-& B.E= &
dr dr
c.v= E D.v=-&

dr dr

Which of the following relation between electric field (E) and electric
potential (V) is correct ?

_ & _dv
A.E=-$ B.E=,



c.v=E D.v=-F

o km Frour arer et arei A Regda aRear 2 & —

A. 1 UF B.2 UF

C.1F D.9F

Electrical capacity of spherical conductor of radius 9 km is
A. 1 UF B.2 UF

C.1F D.9F

TAHIR—afeedT FemRT BT 1Rar 8T & —

A. EOEIA B Eo€rd
=0 LT
A d
C. €perd e €rA
0 0- €L
Capacitance of parallel plate capacitor is -
A EoEL B £o&rd
o "
A d
€perd "€,.€rA

TerdAHer T gfoRIY ‘G’ 3R dlecHIer &1 UfeRe V' & a9 fA=ferRad

P e AL B ?
A.V>G B.G>V
C.V=G D. g1 IR R &var 2 |

Which of the following relation between 'G' the resistance of
galvanometer and 'V', the resistance of voltmeter is correct ?

A V>G B.G>V



C.V=G D. depends upon the current
Tdeves e &1 amaeiRe drar FrefRed 3 39 & ?

A. fawesmd B. areeHiex

C. Hiex fow D. e HIeR

Which of the following is the applied form of wheatstone bridge ?
A. potentiometer B. voltmeter

C. metre bridge D. galvanometer

T IR &I faftre ufeRie vk axar € 39 —

A. TS ™ B. 3TN Blc & A W

C. g&¥qM R D. uaref &1 Ui W)

The specific resistance of a wirre depends upon its

A. length B. diameter of cross-section
C. mass D. nature of material

fhdas & fdg—f1m 4 F=faiRaa & @9 Yifdes T w)iea el 8?
A. Sl B. atrasr

C. |aT D. sgd

Which of the following physical quantity is conserved in Kirchoff's
point-rule ?

A. energy B. charge

C. momentum D. mass



10.

11.

12.

RTATS] ATelh & <X Soldel dl TfY Bl & —

A. FFHT B. @Rd

C. U %Y 3i4d D. srgHfea
Motion of electron inside a conductor is

A. uniform B. accelerated
C. uniform average D. decelerated
fae[a—uRRuer @ wfaq gl & —

A.V.R. B. V2R

C. % D. V2RUI.

Power of electric circuit is -

A.V.R. B. V2R
XZ
C. & D. V2RI,

a1 &3 H Rl AT R g & oy F=ifeiRad # i w2l © 2

- - o - -> =

A F=q(BxV) B.F=q(VxB)
— - >
C.F=(B%7) D.F= B’C‘IV

Which of the following is correct for force on moving charge in a

magnetic field ?

A.I_:>=q(_B)xV>) B.I_:)=q ng)
C.F= M} D.F= ?}Xﬁ)
q q

JIHTT Herdd B AES Bl § —



A. TfrgR B. BT
C. el D. JeR
The unit of magnetic flux is

A. ampere B. farad

C. tesla D. weber

o9 aRRuy # % UfcRTy © ST AR T[0T & —

A. 1 B.o
C R — R
cARZ -1, D. 2 21 2
R+ T VR + WL
Power factor of a circuit having resistance only is -
A1 B.0
C R D — R
UeITI GRT 6T ol a9 #rg A Bl @
A. N2 x RRaR aRT &7 A4 B. '3'@35'_\;?5[‘“:'
c RRER gRT &1 A D AT IRT BT A
' V2 ' V2

Root mean square value of alternating current is equal to

Peak current

A. 2 x Peak current B. >
Peak current Average current
C. D.
V2 2

U D b FrIbrd s (Lm) iR S owrg (Lg) & dra efaiRad

H P Ter Ida § ?

Alg= ¢ Lm B.Lg= 2 Lm



16.

17.

18.

C.Lg=Lm D.Lg=2Lm
Which of the following is the correct relation between geometric

length (Lg) and magnetic length (Lm) of a magnet ?

A.Lg=§Lm B.Lg=§|_m
C.Lg=Lm D.Lg=2Lm

gfe B, 9ol & g1y &3 Pl &fcsl Hee 3R & T/ HIvT 81 Al YAl &
gEHI 87 & ford ffeRad # o9 W& 8 2

B

H

A oS B. B, . coso
. BH
C. B, sind D. s

Which of the following is correct for earth's magnetic field, if B,

horizonatal componet of earth magnetic field and & is angle of dip.

B

A. cosH5 B. B, . coso
C. B, sind D. S];%
e S B g R

A.Am, B. Am?
C.Am’ D. Am?

The unit of intensity of magnetisation is
A.Am. B. Am?
C.Am? D. Am?

FIHII IR 8



19.

20.

21.

A. T fa=g B. U& T

C. o &fast aa D. &% SR dd
Magnetic meridian is -

A. a point B. aline

C. a horizontal plane D. a vertical plane

A FHATIS H, IRl Geaaell BT fTqe-—erdl il & —

A.(1+%) B.

O+ =T

C.(1+7) D.

is
D
A.(1+%) B. ;
f f
C.(1+5) D. 5

AT 3MTE—eT=T BT HIHa—g8 T BIdT & —
A. 1 mm B.2cm
C.25cm D.1m
The focal-length of a normal eye-lens is about
A. 1 mm B.2cm

C. 25 cm D.1m

ERT BT hifdd BV Bdl & —

A. 24.41° B. 37.31°



22.

23.

24.

C. 48.75° D. 41.14°
Critical angle for diamond is -
A. 2441° B. 37.31°

C. 48.75° D. 41.14°

&1 Gufhd ST ol BT FHGed o= BIdl & —
A. T B. 3radd
C. I THR D. SHdeTadd

The equivalent lens of two convex lenses in contct is

A. Convex B. Concave

C. Cylindrical D. Plano Concave
UHTRIa] &1 9o g & —

A. TRTFc B. Uavid

C. faac D. Yol 3f=<iRes uRTeci=

The basic principle of optical fibre is

A. reflection B. scattering

C. diffraction D. total internal reflection
A sl @ Ty v gite @ forg e o e & -

A. 100 cm B. 50 cm

C. 250 cm D. 25 cm

The least distance for clear vision for normal eye is



25.

26.

27.

A. 100 cm B. 50 cm

C. 250 cm D. 25 cm

ey @ i & forg ffoRaa & garer & &4 < ge T 981 7 ?
A. g@ToE B. fqac=

C. gui—fdergoy D. gdiaror

Which of the following phenomena of light is correct for the
formation of rainbow?

A. scattering B. diffraction

C. dispersion D. polarisation

5 7 & YHTer & forw Sfa &7 sruad-ie Afde grar 8 2

A. ard B. &t

C.s% D. et

The refractive index of glass is more for which colour of light ?
A. red B. violet

C. green D. blue

farerpTT Afdevor & forv vermar giar & —

A. ni B. (2n + 1)A/2
C. 77» D. I

The Path difference for destructive interferenc is

A. N, B. (2n + 1)A/2



28.

29.

30.

C. nk D. Zero

2
U1l &1 ITTURT T UG Bl F=ifeiRad # &9 geAr gfte aar © 2
A. TRTEH B. gui—faeruor
C. fdaaxor D. gdreror
Which of the following phenomena confirms the transverse wave
nature of light ?

A. reflection B. dispersion

C. interference D. polarisation

IR & BRI F UHTT BT JT HEdldl & —

A. &R B. faad

C. WRIgc D. 31gaci

Bending of light from the corners of an obstacle is called -
A. interference B. diffraction

C. reflection D. refraction

TG BT HTI—Thel- Bl & —

A.25ev B.3.2 ev
C.6.5ev D. 4.7 ev
Work-function of silver is

A.25ev B.3.2 ev

C.6.5ev D. 4.7 ev



Wi fadied &1 A 8T © —
A. 6.626 x 100 J.S. B. 6.626 x 103 J.S.
C. 6.626 x 103 J.S. D. 6.626 x 103" J.S.

The value of planck constant is -

32.

33.

34.

A. 6.626 x 100 J.S. B. 6.626 x 103 J.S.
C. 6.626 x 103 J.S. D. 6.626 x 103" J.S.
WIS bl e gHq= Bidl & —
A B. &
- e
hv he
C. v D. N

C

Dynamic Mass of photon is

h

A. zero B. oh
hv he
C. > D. N

C

FrfeTRad | B9 /o WIS aRER | 2 ?

A. drgaeT sioft B. 9= Srofl

C. ureas syoft D. s®ec sl
Which of the following series is in ultraviolet region ?
A. Lyman series B. Balmer series

C. Paschen series D. Brackett series

fEanfarefad & foy fMfaled § o9 Suyad T8 & —

A. TR TeAT B. UTehfcreh T



35.

36.

37.

C. wHvIfdeh T D. Wa: hd gl
Which of the following is not applicable for radioactivity ?
A. nuclear phenomena B. natural phenomena

C. atomic phenomena D. spontaneous Phenomena

TSN | T dTell Soiderd 8l & —
A. o—fdrof B. p—fd=ui
C. y—fxof D. x—fdwoi

Fast moving electrons are

A. a-rays B. p-rays

C. y-rays D. x-rays

o— ®IT BT &

A. Sclag™ B. fagfa—gaia fafdor

C. gifers™ =1fa® D. glsgIoiA AI1fy®

o-particle is -

A. electron B. electromagnetic radiation
C. helium nucleus D. hydrogen nucleus

Ut QU @1 wRE (d), T.V. U907 2R &1 Jhars (h) 3R gl @ B (R)
@ 49 €Y BT § —
A.VRh =d B.d = V2hR

C.d = V3Rh D. d = V5Rh



38.

39.

40.

The relation among ragne of transmitting antenna (d), height of T.V.

transmssion tower (h) and radius of earth (R) is -

A. VRh = d B.d = V2hR
C. d = V3Rh D. d = V5Rh

HA—3TERAT ¥ BIg ST URATY BT Holl Bl © —

A. -0.85 ev B.-1.5ev
C.-34 ev D.-13.6 ev
Energy of hydrogen atom in the ground state is
A. -0.85 ev B.-1.5ev

C.-34ev D.-13.6 ev

ST UG Bl -1 AGaTedd H Afed fhar SIar 8 a9 fgareld Dl aAreidd]
A. el § B. Tedhl &

C. ¥ W& © D. 3= & Sl ©

When an impurity is doped into an intrinsic semiconductor its
conductivity

A. increases B. decreases

C. remains the same D. becomes zero

NOR 12 &I qfera &old el & —
A.Y=A+B B.Y=AB

C.Y=A+B D.Y=AB



41.

42.

43.

The Boolean expression for NOR gate is
A.Y=A+B B.Y=AB

C.Y=A+B D.Y=AB

el A fasearur H, 50Hz & fraer smgiky & fory fe=tfeilRad | 19 |gl

e gy § 2
A. 25 Hz B. 50 Hz
C. 100 Hz D. 200 Hz

Which of the following is the correct output frequency for input
frequency of 50Hz in half wave rectification ?

A. 25 Hz B. 50 Hz

C. 100 Hz D. 200 Hz

fgamemsy wer (11110) @1 goifie e fefoRad &9 § ?

A. (20),, B. (30),,

C. (40),, D. (50),,

Which of the following is the decimal number of binary number

(11110),?

A. (20),, B. (30),,
C. (40),, D. (50),,
SIS UR 3T Bl & —

A.e=-1.6 x10"%c B.e=-16x10"c



44.

45.

46.

C.e=-1.6x10"8c D.e=-1.6 x10"c

Charge on an electron is

A.e=-1.6x10"c B.e=-1.6x10"c

C.e=-1.6x10"%c D.e=-1.6x10"c

eoiﬁ IR & —

A. 8.854 x 1070 & B. 8.854 x 107 &

C.8.854 x 1072, & | D. 8.854 X 10°% o

€,is equal to

2 2

A. 8.854 x 1070 B. 8.854 x 101"y »

2 c?

C. 8.854 x 102 , D. 8.854 x 10" nyp2

fega—armeel & fory fAeforfad o @19 98 © ?

A.M%‘sns‘:% x 102° 9o B. 1 fEa1E = 102°9H o

C. 1 fearg = 103090 D.1%Tsrrs‘:§ JH0

Which of the following is correct for dipole-moment ?

A. 1 debye = % x 102 cm B. 1 debye = 10%° ¢m

C. 1 debye = 10 cm D. 1debye = 3 cm
frt 4 AdiR B @ wgen e & - —| 15 9 S
A S B. 5

C. 3C D. ¢

The equivalent capacity between A and B in figure is



47.

48.

49.

15 o o

A.C B. €
2 3
2
C. 3C D'C
fr=forRag & oI Hey @ g ?
A.1TA=10mA B.1A=10°mA
C.1A=10°"mA D.1A=10°% mA

Which of the following relation is correct ?
A.1A=10°mA B.1A=10°mA
C.1A=10°mA D.1A=10°mA

fereforRaa & i ddyr 981 & ?

A.?JI'RTEHEIZi B. gRT T = I.A
C. uRT " = |, D. uRT &g = |. A?

Which of the following relation is correct ?

I
A
C. Current density = /iz D. Current density = |. A2

A. Current density = B. Current density = |.A

yfeRie & foru feeforRaa & o ey |8 8 7

A R=PA B.R= &
L A
C.R=p.A L. D.R=pf

Which of the following relation is correct for resistance ?

_PA _ pL
AR="5 B.R=",



50.

51.

52.

53.

C.R=p.A. L.

e # | &1 w149 8R —

A.10A

C.40A

The value of | in figure, will be -
A.10A

C.40A

B.30 A 10A A
' 54" 15—

D. 15 A 10A

B. 30 A

D.15A

fayaamdy & f=ferRaa ® o9 |mar Sar g 2

A. gfeRIer

C. ol &7 e. m. f.

B. gRT

D. 399 & ®Is el

Which of the following measured by potentiometer ?

A. resistance

C. e.m.f. of cell

1 KWH & aRTeR BIdT & —
A.3.6x10%J
C.3.6x10%J

1 KWH is equal to
A.3.6x10%J
C.3.6x10%J

1 ST BIT © —

B. current

D. none of these

B.3.6 x10*J

D.3.6x10°J

B.3.6 x10*J

D.3.6x10°J



A. 1 JER /THP? B. 1 dex /HP

C.1 JaR . |HP? D.1 d&R . AP
1 tesla is

A. 1 weber/cm? B. 1 weber/m?
C. 1 weber . cm? D. 1 weber . m?

FHEDHR Folad (p) BT & —

—>—> - -
A.¢=B.A B.$=BxA
A B
C.o=73 D.¢= 4
Magnetic flux (9) is
- - -
A. ¢=B.A B.$=BxA
_ A _B
C.(I)—B D-(I)_A
fe[d @ T BT 9T BIaT & —
- 1
A.C=\/u0€0 B'Cz\/“o_eo
c= Lo D.C =V =
0 M0
Velocity of electromagnetic wave is
1
A. C = e, B.C=1ie,
=y Lo D.C=V

-
()

0

IS BT Holl Bidl & —

A.E = hv B.E= D
\Y%

_Vv _ h
C.E=" D.E=



57.

58.

59.

Energy of photon is -

A.E = hv B.E= |
C.E= % D.E= \h,

1 ev & SXI&R BT & —

A.1.6x107"J B. 1.6 x 10" J
C.1.6x10%J D. 1.6 x 106 J
1 evis equal to

A.16x107"J B. 1.6 x 10" J
C.1.6x10%J D. 1.6 x 106 J
fr=faRed & o9 H8r 8 ?

A. (111), = (7),, B. (100), = (7),,
C. (101), = (7),, D. (110), = (7),,
Which of the following is correct ?

A. (111), = (7),, B. (100), = (7),,
C. (101), = (7),, D. (110), = (7),,

fgamart anT & fog M=iferRad # o wg! 781 & ?
A.0+0=0 B.O+1=1
C.1+0=1 D.1+1=1
Which of the following is not correct for binary addition ?

A.0+0=0 B.O+1="1



60.

61.

62.

C.1+0=1 D.1+1=1

fe<ll Seardl grIBieR 4 afe gl SR Adbed fsell d Haer N, 3R N,

e}

duc & a9
AN, >N, B.N,>N,
C.N, =N, D.N, >>N,

In a step up transformer if number of turns in primary coil and sec

ondary coil are N, and N, respecrively, then

A.N >N, B.N,>N,

C.N, =N, D.N,>>N,

BISgIo uishd @1 B 1 20 g 91T H U=l & 7

A. IR 2ol B. sdc #iof

C. ofrgaT &iofi D. ureas syoft

Which series of hydrogen spectrum lies in visible region ?
A. Balmer series B. Brackett series

C. Lyman series D. Paschen series

ST o D BB g3 1 HIe 2, S A 8N —
A.P=100D B.P=10D
C.P=1D D.P=05D
Focal length of convex lens is 1m, its power will be

A.P=100D B.P=10D



63.

64.

65.

66.

67.

C.P=1D D.P=05D

e gemedlt @ firg FreifRad & @ | 8 ?

A f > 1 B.f, <f,
C.f=f D.f, >>f,

Which of the following is correct for compound microscope ?

A f>f B.f, <f, C.f=f D.f >>f

gdel fIH gRT =g faae™ &1 Ior 8rer 8 —

A (1-pA B.(1-A)u C.(u-1A D.(A-1)u
Angle of minimum deviation by thin prism is :

A (1-pA B.(1-A)u C.(u-1A D.(A-1)u
YTl b 3fuda § [rfIRad § div wifcre JIR1 81 ggefdr & ?

A. S B. & C. T D. agfy
Which of the physical quantity does not change in refraction of light?
A. intensity B. velocity C. wave-length D. frequency
IS gar | GBI &1 o7 Va AR ur«il § Uebrer &1 9T Vw 81 d9

A.Va =Vw B. Va > Vw

C.Vw > Va D. Va = 2Vw

If velocity of light in air is Va and velocity of light in water is Vw then

A. Va =Vw B. Va > Vw C.Vw > Va D. Va = 2Vw

STl & foru spifare IvT BT 2



68.

69.

70.

A. 24.41° B. 37.31°
C. 41.14° D. 48.75°

Critical angle for water is

A. 24.41° B. 37.31°

C. 41.14° D. 48.75°
TS AIHIOT & oIy Heffar g 2

A. ¢=2nm B.o=(2n+1)xn
C.o=nn D.¢=(n+1)x

Phase difference for constructive interference is
A. 6=2nm B.¢=(2n+ 1)
C.o=nn D.¢=(n+1)x

BT et & diaar () & fore fF=feRaa & o9 @& 8 2

1

A.Ioc;: B.lo
C.|ocK13 D.|m£4

Which of the following is correct for intensisty of scattered light (I) ?

A.Ioc;: B.Mfz
C.|oc7}3 D.Ioc}%4

P & AAIIR FAE Bl USC! & HIdhd g Il & —
A B. 3 d

C. 10 99 D. 100 91



Focal-length of parallel sided glass slab is
A. zero B. infinity
C.10 cm D. 100 cm
SECTION-B (Short Answer Type Questions)
Gue—q (g SN UH)
Question Nos. 1 to 20 are Short Answer Type. Answer any 10 ques-

tions. Each question carries 2 marks. 10x2 =20

U &A1 1 ¥ 20 b g IRIA U © | fh=el 10 Ul T IR < | YD

% forg 2 3 fmifRa 2 10x 2 =20

1. AR dol A MY T FHd § 2 2
What do you mean by equipotentia surface ?

2. Rer—{dg@ & 19 w1 a1 ford | 2
Write Gauss-theorem of electrostatics.

3. ORI & S g9 & o & Al B ford | 2
Write Joule's laws of heating effect of current.

4. TIGdT ORT & ST A9 DI FHASH | 2
Explain average value of an alternating current.

5.  US—{Igd 99Ta ¥ 3779 FaT FHSId 8 ? 2
What do you mean by photoelectric effect. ?

6.  drer (B) fxul & a1 ol &l ford | 2



10.

11.

12.

13.

14.

15.

16.

Write two properties of beta (B) rays.

p - UBR & 3efdareld BT THSR |
Explain p - type of semiconductor.
ATAT—TCS! | 3T R FHST & 7
What do you mean by conduction band ?
THTeT B ADHROT BT FHST |

Explain polarisation of light.

3T Arge BT FHEM |

Explain amplitude modulation.
fIe[q—eTATE &1 AT |

Explain electrical resonance.
Rig—&m Yl W &g I e ¥ ?

What do you mean by electric field lines ?

HERAT & Svildg FATSTT Bl FAST |
Explain series combination of capacitors.
AND 7 &I FHsI |

Explain AND-gate.

A B I BT T |

Explain Permeability of a medium.

UTeIHe SEEY BT T |



ExplainPrimary rainbow.

17.  dAR—THGIT @1 &1 BT BT ford | 2
Write two short comings of Bohr-Principle.

18.  THA—BIOT H 3T RAT TSR & 7 2
What do you mean by angle of dip ?

19. TI@e gfte v & =7 ¥9eK © 7 2
What do you mean by Short sightedness ?

20. FAX ¥ 39 @RI 99 & 2 2
What do you mean by FAX ?

Long Answer Type Questions /<Iel SR U2

Question Nos. 21 to 26 are Long Answer Type. Answer any 3 ques-

tions. Each question carries 5 marks. 3x5=15
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ged & foly 5 3f% HeEiRa 2 3x5=15
21. IR ufced AuiiRa @ aikar & forw aisie ura & | 5

Find out the expression for capacitance of a parallel plate capacitor.
22.  UH Id HSell eaAMIe B g9Ee AR T &1 aui o | 5

Explain the construction and working of a moving coil galvanometer.
23.  HM4 gfe—qIY &l 9 T4 S AR & U I | 5

Explain defects of vision of human eye and their remedies.



24.

25.

26.

faerer f2d gui-—faergor & forg emaeass e@l & Sd & | 5
Find out the necessary conditions for dispersion without deviation.
gfird@@ra uare, sTgga@id ucref 3R dig ga@id usref & §¥smi | 5
Explain diamagnetic substance, paramagnetic substance and
ferromagnetic substance.

OR—gR®, AND—gR® R NOT—gR® &l FHSH | 5

Explain OR- gate, AND-gate and NOT-gate.





